VPpoK-BHKTOPHHA

200-aeTrue ML.FO.JIepmoHTOBA
" 3ajaHus MO0 MaTeMaTHKe
I.HajiTu 3HaYeHUSs] BbIPAKEHHS
1) 85-(98—-14)=
2) 4,7-42)+75=
3.) (1000 —875)—-124 =
4)) 6004 — (10 000 —4000)=

I1. Pemunuthb ¥ MOX0GPATH COOTBETCTBYIOMMI OTBET:

BazoBelil ypoBeHb: 4,7 +2,9 = 3

[ToBbIIeHHBIH ypoBeHs: 3,50 (2,11 -0,11) = 7,6

Bricokuit yposens: (5,8 —3,9) — (0,55 ;—0,25) +14= 7
I11. Pemnuth npuMephl H COCTABHTH canO:
A-1 b-2 B-3 -4 -5 |E-6 |E-7
K-8 |[3-9 n-10 |[M-11 |K-12 |J-13 [M-14
H-15 |0O-16 m-17 P-18 CcC-19 |T-20 |¥V-21
©_22 |X-23 |I[-24 |4-25 |I-26 |L0-27 |b-28
BI-29 | b-30 |D-31 [10-32 [A-33 |- |-

) (512-1,12) 5=
2) 8,31 +2,69—10=

3)2,7+33+12=
4) 20 (13,5-2)=

5)5:55:5=
6) 0@ 15+15=
7) 23+3 2=




